IRTET ETRXMRE

TH2FAR ~HHIFEIA X H AR

£RH N B =5 (M) *x %
R2.4.5 4/5 FH 5,000 |EE
R2.4.9 4/9 FH 5000 |=x
R2.5.22 [#ESFBEX H41 8,820 |KEEE
R2.7.31 [7/31 &#& 5000 |=x
R2.8.14 [8/14 FHH 5000 |=x
R2.8.29 |BRBREZREEE ZNE 5000 |RMREFREXEESEEEZRES: AR
R2.8. 31 BEERA 7HVA FE—T1429 HAERK 2,400 \IRFRTHuIGREM/KA ST
R2.9.3 £%TE HM 4,410 |[KEBE
R2.9.3 TIERNE A  #Hitl 8,690 |KEEE
R2.9.3 EXHE LE 2,760 | atthbiEf=
R2.9.3 KISERAE L& 1,380 |#kXatthbiEfz
R2.9.3 EfER 22,000 |JAIRFXZFR
R2.10.23 (10/23 & 5000 |=x
R2.10.26 (10/26 & 5000 |=x
R2.11.7 [11/1 &BH# 5000 |=x
R2.11.10 [11/10 & 5000 |=x
R2.11.12  [RENZEER 10,000 (Z&EH
R2.11.13 [HLUEREAZ #&i 11,290 |&=XI Y —L
R2.11.17 [11/17 &B# 5000 |=x
R2.12.11  [RENZEER 10,800 [ZAB®A
R2.12.11 [LERK 2,804 [BRILIFY—L
R2.12.11 [&£7E 11,000 [JASTATX AR
R2.12.11  [HESEBEARKERXRA BER 4,410 |[KEBE
R2.12.16 [&£7E 11,000 (¥ +~35
R2.12.17 [#RKHRE 10,000 |#KEARE
R3.2.19 [HFERICLSHKE 18 77,600 | FILEEIT=
R3.2.19 [HF&ERIZLESRAHE 15,200 |FlUERI=
R3.3.3 3/3 BH 5000 |=x
R3.3.18 [3/18 &#& 5000 |=x
R3.3.31 [3/31 &A 5000 |=x
R3.3.31 [3/31 && 5000 |=x

&t 284, 564




